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ANSWER QUESTION 1 AND ANY OTHER TWO QUESTIONS

QUESTION 1 (30 MARKYS) COMPULSORY

a. Aset Aisdefinedas A= {a,b,c}. determine the power set of A (3 marks)
b. A line passes through a point P(2,6) and cuts the x-axis at x=4, determine its

equation in the form y=mx+c ('3 marks)
c. Solve the quadratic equation below.

2x*+13x+6=0 (3 marks)
d. Write down the surd 42525000 in its simplest form. (3 marks)

4.,3,-2¥(,6,,452),
e. Simplify (X y2 2) (X_Sy . )2 (3 marks)
X°yz
f. Evaluate 109243+10027~log81 (3 marks)
log9

g. Expand (x+y)’ ( 3 marks)

h. determine the mean, mode and median of the following data (5 marks)
12,11, 14, 17, 24, 19, 21, 10, 26, 24

I. Evaluate the following logarithms (4 marks)
log, 64 +log,,121



QUESTION 2 (15 MARKYS)

a. Three sets are defined as
A={2,4,5,7,9,11,13,15,16,19,20} B={2,4,6,8,10,12,14,16,18} and
C={1,2,3,5,7,11,13,17,19,23}
Determine
AUB
(BNC)U(ANC)
(AUC)N(BUC)
b. A universal set U is defined as a set of all numbers from 1 to 10. Two other
sets P and Q are defined in such away that P is the set of all even numbers

that lie between 1 and 10 while Q is the set of all odd numbers that lie
between 1 and 10.

Determine i. P UQ°
i. P°NQ°
QUESTION 3 (15 MARKYS)

a. A line L1 passes through P(3,7) and Q(6,16)
) Determine its equation in the form y=mx+c hence state the

coordinates of its y- intercept ( 3 marks)
i)  Determine the equation of a line L2 that is parallel to the line L1
above and passes through the origin (3 marks)
1)  Determine equation of another line L3 that is perpendicular to L1 and
passes through (4,6) (3 marks)
b. Determine the meeting point of the two lines whose equations are given as
2y +3x =23 and 5y -2x=10 (4 marks)

c. Determine the acute angle that lies between the line 2y=x-6 and x-axis



QUESTION 4 (15 MARKYS)

a. Solve the following quadratic equations using the stated method
1) Factorization method

3x? +11x+10=0 (3 marks)
i) Completing square method
2x° +14x+24=0 (4 marks)

1ii) Quadratic formula method

3x*-11x-4=0 (3 marks
b. The length of a rectangle is 9cm longer than its width. Given that its area is
22cm?. Determine its perimeter and the length of its diagonal (5 marks)
QUESTION 5 (15 MARKYS)
a. Simplify the following surds (3v5 + 42 6v5 —112) (3marks)
b. Evaluate M in the form a+b+/c hence state the values of a, b and ¢
7/3-24/5
c. Evaluate the logarithms below (4 marks)

log 625 + log125 + log 5’
log 25

(3 marks)

d. Expand (2x+3y)° (5 marks)






